



---

**Theory article**

## Extragradient Methods for Solving Variational Inequalities with Summable Errors

**Simeon Reich\*** and **Alexander J. Zaslavski**

Department of Mathematics, The Technion – Israel Institute of Technology, 32000 Haifa, Israel

\* **Correspondence:** Email: [sreich@technion.ac.il](mailto:sreich@technion.ac.il).

**Abstract:** We study, in the setting of a Hilbert space, weak convergence of the sequences generated by extragradient methods for solving variational inequalities in the presence of summable computational errors. Our results enhance earlier results which were obtained for exact iterates of such methods.

**Keywords:** Extragradient method; Hilbert space; iteration; variational inequality

**Mathematics Subject Classification:** 47H05, 47H14

---

### 1. Introduction

Gradient-type methods and variational inequalities have recently been and continue to be important topics in optimization theory and its applications. See, for example, [1–12] and references mentioned therein. In the present paper we study, in the setting of a Hilbert space, weak convergence of the sequences generated by the extragradient method, introduced in [11] for solving variational inequalities, in the presence of summable computational errors. Our results enhance earlier results, which were obtained by Censor, Gibali and Reich [5] for exact iterates of this method. It is shown that the weak convergence established in [5] remains in force even in the presence of small computational errors, which are always present in practice.

Let  $H$  be a Hilbert space equipped with an inner product  $\langle \cdot, \cdot \rangle$  which induces the norm

$$\|x\| = \langle x, x \rangle^{1/2}, \quad x \in H.$$

Let  $D$  be a nonempty, closed, and convex subset of  $H$ . It is well known that for each  $x \in H$ , there exists a unique nearest point in  $D$  which is denoted by  $P_D(x)$ . That is,

$$\|x - P_D(x)\| \leq \|x - y\|, \quad y \in D.$$

It is also well known that  $P_D : H \rightarrow H$  is a nonexpansive operator [13, 14], that is,

$$\|P_D(x) - P_D(y)\| \leq \|x - y\|, \quad x, y \in H,$$

and that for each  $x \in H$ , and each  $y \in D$ , we have

$$\begin{aligned} P_D(x) &\in D, \\ \langle x - P_D(x), P_D(x) - y \rangle &\geq 0, \end{aligned} \quad (1.1)$$

and

$$\|x - y\|^2 \geq \|x - P_D(x)\|^2 + \|y - P_D(x)\|^2. \quad (1.2)$$

Recall that a map  $B : H \rightarrow 2^H$  is said to be monotone if

$$\langle u - v, x - y \rangle \geq 0$$

for each  $x, y \in H$ , each  $u \in B(x)$  and each  $v \in B(y)$ .

Note that the following fact, called the Opial property, holds in  $H$ .

If a sequence  $\{x_k\}_{k=1}^{\infty} \subset H$  converges weakly to  $x \in H$ , then for each  $y \in H \setminus \{x\}$ , we have

$$\liminf_{k \rightarrow \infty} \|x_k - x\| < \liminf_{k \rightarrow \infty} \|x_k - y\|.$$

## 2. The first main result

Assume that  $C \subset H$  is a nonempty, closed, and convex set, and let  $f : H \rightarrow H$  be an operator. Assume that

$$\langle f(x) - f(y), x - y \rangle \geq 0 \text{ for each } x, y \in C. \quad (2.1)$$

In other words, the operator  $f$  is monotone. Assume also that  $L > 0$  and that

$$\|f(x) - f(y)\| \leq L\|x - y\|, \quad x, y \in C. \quad (2.2)$$

In other words, the operator  $f$  is Lipschitz with a Lipschitz constant  $L$ . Denote by  $\text{SOL}(C, f)$  the set of all points  $x_* \in X$  such that

$$\langle f(x_*), x - x_* \rangle \geq 0, \quad x \in C. \quad (2.3)$$

We assume that  $\text{SOL}(C, f) \neq \emptyset$ . Note that for each  $x_* \in C$ , we have [15]

$$x_* \in \text{SOL}(C, f) \text{ if and only if } \langle f(y), y - x_* \rangle \geq 0, \quad y \in C. \quad (2.4)$$

Indeed, if  $x_* \in \text{SOL}(C, f)$ , then for each  $y \in C$ , we have

$$\langle f(y), y - x_* \rangle \geq \langle f(x_*), y - x_* \rangle \geq 0.$$

If for each  $y \in C$ ,

$$\langle f(y), y - x_* \rangle \geq 0,$$

then for each  $x \in C$  and each  $t \in (0, 1)$ , we have

$$\begin{aligned} 0 &\leq \langle f((1-t)x_* + tx), (1-t)x_* + tx - x_* \rangle \\ &= t\langle f((1-t)x_* + tx), x - x_* \rangle \end{aligned}$$

and

$$0 \leq \langle f((1-t)x_* + tx), x - x_* \rangle \rightarrow \langle f(x_*), x - x_* \rangle$$

as  $t \rightarrow 0^+$ .

We now consider the following algorithm for solving our variational inequality.

Fix a number  $\tau \in (0, L^{-1})$ .

**Initialization.** Choose any point  $x_0 \in H$ .

**Iterative step.** Assume that  $k \geq 0$  is an integer and that  $x_k \in H$  is the current iterate. Set

$$y_k = P_C(x_k - \tau f(x_k)), \quad x_{k+1} = P_C(x_k - \tau f(y_k)). \quad (2.5)$$

It was shown in [5] that the sequences  $\{x_k\}$  and  $\{y_k\}$  both converge weakly to the same limit, which belongs to  $SOL(C, f)$ . In the present paper, we show that inexact iterates of the above algorithm retain this property provided the sequence of computational errors is summable.

The following lemma is an important ingredient of the proofs in [5] and in the present paper.

**Lemma 2.1.** *Let  $\{x_k\}_{k=0}^\infty, \{y_k\}_{k=0}^\infty \subset H$ , assume that (2.5) holds for each integer  $k \geq 0$ , and let  $u \in SOL(C, f)$ . Then for each integer  $k \geq 0$ , we have*

$$\|x_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|y_k - x_k\|^2.$$

Let  $\{\Delta_k\}_{k=0}^\infty \subset (0, \infty)$  and

$$\Delta = \sum_{k=0}^{\infty} \Delta_k. \quad (2.6)$$

We are now ready to state our first main result which establishes the weak convergence of iterates generated by the monotone operator  $f$  introduced in this section.

**Theorem 2.2.** *Let  $\tau \in (0, L^{-1})$ ,  $\{x_k\}_{k=0}^\infty, \{y_k\}_{k=0}^\infty \subset H$ , and for each integer  $k \geq 0$ , let*

$$\|y_k - P_C(x_k - \tau f(x_k))\| \leq \Delta_k \quad (2.7)$$

and

$$\|x_{k+1} - P_C(x_k - \tau f(y_k))\| \leq \Delta_k. \quad (2.8)$$

*Then both the sequences  $\{x_k\}_{k=0}^\infty$  and  $\{y_k\}_{k=0}^\infty$  converge weakly to the same limit, which belongs to  $SOL(C, f)$ .*

We precede the proof of this theorem by an auxiliary result.

### 3. An auxiliary result

The following lemma is an important ingredient in the proof of Theorem 2.2.

**Lemma 3.1.** *Let  $\tau \in (0, L^{-1})$  and  $\{x_k\}_{k=0}^\infty, \{y_k\}_{k=0}^\infty \subset H$ , assume that for each integer  $k \geq 0$ , both (2.7) and (2.8) hold, and let*

$$u \in SOL(C, f). \quad (3.1)$$

Then for each integer  $k \geq 0$ , we have

$$\|x_k - u\| \leq \|x_0 - u\| + \Delta$$

and

$$\|x_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|y_k - x_k\|^2 + \Delta_k (4\|x_0 - u\| + 10\Delta).$$

*Proof.* Let  $k \geq 0$  be an integer. Set

$$\tilde{y}_k = P_C(x_k - \tau f(x_k)) \quad (3.2)$$

and

$$\tilde{x}_{k+1} = P_C(x_k - \tau f(\tilde{y}_k)). \quad (3.3)$$

Lemma 2.1, (3.2) and (3.3) imply that

$$\|\tilde{x}_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|\tilde{y}_k - x_k\|^2. \quad (3.4)$$

In view of (2.7) and (3.2), we have

$$\|\tilde{y}_k - y_k\| = \|y_k - P_C(x_k - \tau f(x_k))\| \leq \Delta_k. \quad (3.5)$$

By (2.2), (2.8), (3.3), (3.5), and the inequality  $L\tau < 1$ , and since the operator  $P_C$  is nonexpansive, we have

$$\begin{aligned} \|\tilde{x}_{k+1} - x_{k+1}\| &= \|P_C(x_k - \tau f(\tilde{y}_k)) - P_C(x_k - \tau f(y_k))\| \\ &\quad + \|P_C(x_k - \tau f(y_k)) - x_{k+1}\| \\ &\leq \tau \|f(\tilde{y}_k) - f(y_k)\| + \Delta_k \leq L\tau \|\tilde{y}_k - y_k\| + \Delta_k \leq 2\Delta_k. \end{aligned} \quad (3.6)$$

By (3.5) and (3.6), for each integer  $k \geq 0$ , we have

$$\|\tilde{y}_k - y_k\| \leq \Delta_k, \quad \|\tilde{x}_{k+1} - x_{k+1}\| \leq 2\Delta_k. \quad (3.7)$$

Using (3.4), (3.7), and the inequality  $L\tau < 1$ , we see that for each integer  $k \geq 0$ ,

$$\|\tilde{x}_{k+1} - u\| \leq \|x_k - u\|$$

and

$$\|x_{k+1} - u\| \leq \|x_{k+1} - \tilde{x}_{k+1}\| + \|\tilde{x}_{k+1} - u\| \leq \|x_k - u\| + 2\Delta_k. \quad (3.8)$$

It follows from (2.6) and (3.8) that for each integer  $k \geq 1$ ,

$$\|x_k - u\| \leq \|x_0 - u\| + 2 \sum_{i=0}^{\infty} \Delta_i \leq \|x_0 - u\| + 2\Delta. \quad (3.9)$$

Let  $k \geq 0$  be an integer. In view of (3.4) and (3.9),

$$\|\tilde{y}_k - x_k\| \leq (1 - \tau^2 L^2)^{-1/2} \|x_k - u\| \leq (1 - \tau^2 L^2)^{-1/2} (\|x_0 - u\| + 2\Delta). \quad (3.10)$$

By (2.8), (3.3), and (3.9), we have

$$|\|\tilde{x}_{k+1} - u\|^2 - \|x_{k+1} - u\|^2|$$

$$\begin{aligned}
&\leq \|\tilde{x}_{k+1} - u\| - \|x_{k+1} - u\|(\|\tilde{x}_{k+1} - u\| + \|x_{k+1} - u\|) \\
&\leq \|\tilde{x}_{k+1} - x_{k+1}\|(2\|x_{k+1} - u\| + \|\tilde{x}_{k+1} - x_{k+1}\|) \leq \Delta_k(2\|x_0 - u\| + 5\Delta). \tag{3.11}
\end{aligned}$$

It follows from (3.5), (3.9), (3.10), and the inequality  $\tau L < 1$  that

$$\begin{aligned}
&(1 - \tau^2 L^2)\|y_k - x_k\|^2 - \|\tilde{y}_k - x_k\|^2 \\
&\leq (1 - \tau^2 L^2)\|y_k - x_k\| - \|\tilde{y}_k - x_k\|(\|\tilde{y}_k - x_k\| + \|y_k - x_k\|) \\
&\leq (1 - \tau^2 L^2)\|\tilde{y}_k - y_k\|(2\|\tilde{y}_k - x_k\| + \|\tilde{y}_k - y_k\|) \\
&\leq (1 - \tau^2 L^2)\Delta_k(2\|\tilde{y}_k - x_k\| + \Delta_k) \leq \Delta_k(2\|x_0 - u\| + 5\Delta). \tag{3.12}
\end{aligned}$$

Using (3.4), (3.11), and (3.12), we find that

$$\begin{aligned}
\|x_{k+1} - u\|^2 &\leq \|\tilde{x}_{k+1} - u\|^2 + \Delta_k(2\|x_0 - u\| + 5\Delta) \\
&\leq \|x_k - u\|^2 - (1 - \tau^2 L^2)\|\tilde{y}_k - x_k\|^2 + \Delta_k(2\|x_0 - u\| + 5\Delta) \\
&\leq \|x_k - u\|^2 - (1 - \tau^2 L^2)\|y_k - x_k\|^2 + \Delta_k(4\|x_0 - u\| + 10\Delta).
\end{aligned}$$

This completes the proof of Lemma 3.1.  $\square$

#### 4. Proof of Theorem 2.2

Assume that

$$u \in \text{SOL}(C, f).$$

Let  $Q$  be a natural number. Lemma 3.1 implies that

$$\begin{aligned}
\|x_0 - u\|^2 &\geq \|x_0 - u\|^2 - \|x_Q - u\|^2 \\
&= \sum_{k=0}^{Q-1} (\|x_k - u\|^2 - \|x_{k+1} - u\|^2) \\
&\geq \sum_{k=0}^{Q-1} ((1 - \tau^2 L^2)\|x_k - y_k\|^2 - \Delta_k(4\|x_0 - u\| + 10\Delta)), \\
&\sum_{k=0}^{Q-1} (1 - \tau^2 L^2)\|x_k - y_k\|^2 \leq \|x_0 - u\|^2 + \Delta(4\|x_0 - u\| + 10\Delta). \tag{4.1}
\end{aligned}$$

In view of (4.1),

$$\sum_{k=0}^{\infty} \|x_k - y_k\|^2 < \infty, \quad \lim_{k \rightarrow \infty} \|y_k - x_k\| = 0. \tag{4.2}$$

Lemma 3.1 implies that the sequence  $\{x_k\}_{k=1}^{\infty}$  is bounded, and so it has a weak accumulation point. Let  $\bar{x}$  be the weak limit of a subsequence  $\{x_{k_j}\}_{j=1}^{\infty}$  of  $\{x_k\}$ :

$$\lim_{j \rightarrow \infty} x_{k_j} = \bar{x}. \tag{4.3}$$

Clearly,  $\bar{x} \in C$ . In view of (4.2) and (4.3),

$$\lim_{j \rightarrow \infty} y_{k_j} = \bar{x} \quad (4.4)$$

in the weak topology.

Let  $v \in C$ . By (1.1), for each integer  $k \geq 0$ ,

$$\langle x_k - \tau f(x_k) - P_C(x_k - \tau f(x_k)), P_C(x_k - \tau f(x_k)) - v \rangle \geq 0$$

and

$$\langle \tau^{-1}(P_C(x_k - \tau f(x_k)) - x_k) + f(x_k), v - P_C(x_k - \tau f(x_k)) \rangle \geq 0. \quad (4.5)$$

Since the operator  $f$  is Lipschitz, it follows from Lemma 3.1 that the sequences  $\{P_C(x_k - \tau f(x_k))\}_{k=0}^{\infty}$  and  $\{f(x_k)\}_{k=0}^{\infty}$  are bounded. When combined with (2.7), (2.8), and (4.5), this implies that

$$\liminf_{k \rightarrow \infty} \langle \tau^{-1}(y_k - x_k) + f(x_k), v - y_k \rangle \geq 0. \quad (4.6)$$

By (4.2) and (4.6),

$$\liminf_{k \rightarrow \infty} \langle f(x_k), v - y_k \rangle \geq 0. \quad (4.7)$$

Lemma 3.1, (2.1), (2.2), (4.2), (4.4), and (4.6) imply that

$$\begin{aligned} \langle f(v), v - \bar{x} \rangle &= \lim_{j \rightarrow \infty} \langle f(v), v - y_{k_j} \rangle \\ &\geq \limsup_{j \rightarrow \infty} [\langle f(v), v - y_{k_j} \rangle - \langle \tau^{-1}(y_{k_j} - x_{k_j}) + f(x_{k_j}), v - y_{k_j} \rangle] \\ &= \limsup_{j \rightarrow \infty} [\langle f(v) - f(y_{k_j}), v - y_{k_j} \rangle \\ &\quad + \langle f(y_{k_j}) - f(x_{k_j}), v - y_{k_j} \rangle \\ &\quad - \langle \tau^{-1}(y_{k_j} - x_{k_j}), v - y_{k_j} \rangle] \geq 0. \end{aligned}$$

So for each  $v \in C$ , we have

$$\langle f(v), v - \bar{x} \rangle \geq 0. \quad (4.8)$$

By (2.4),

$$\bar{x} \in \text{SOL}(C, f).$$

Thus, we have shown that the limit of any weakly convergent subsequence of  $\{x_k\}_{k=0}^{\infty}$  belongs to  $\text{SOL}(C, f)$ .

Now we show that the sequence  $\{x_k\}_{k=0}^{\infty}$  weakly converges to  $\bar{x}$ . Suppose to the contrary that this does not hold. Then there exists another subsequence  $\{x_{k_j}\}_{j=1}^{\infty}$  which converges weakly to  $\bar{x}' \neq \bar{x}$ , where

$$\bar{x}' \in \text{SOL}(C, f).$$

By Lemma 3.1 applied with  $u = \bar{x}$ ,  $u = \bar{x}'$  and the Opial property, we have

$$\lim_{k \rightarrow \infty} \|x_k - \bar{x}\| = \liminf_{k \rightarrow \infty} \|x_k - \bar{x}\|$$

$$\begin{aligned}
&= \liminf_{j \rightarrow \infty} \|x_{k_j} - \bar{x}\| < \liminf_{j \rightarrow \infty} \|x_{k_j} - \bar{x}'\| \\
&= \lim_{j \rightarrow \infty} \|x_{k_j} - \bar{x}'\| = \liminf_{j \rightarrow \infty} \|x_{\bar{k}_j} - \bar{x}'\| \\
&< \liminf_{j \rightarrow \infty} \|x_{\bar{k}_j} - \bar{x}\| = \lim_{k \rightarrow \infty} \|x_k - \bar{x}\|,
\end{aligned}$$

a contradiction.

The contradiction we have reached shows that the sequence  $\{x_k\}_{k=0}^\infty$  converges weakly to  $\bar{x}$ . In view of (4.2), the sequence  $\{y_k\}_{k=0}^\infty$  also converges weakly to  $\bar{x}$ , as asserted. This completes the proof of Theorem 2.2.

## 5. The second main result

In this section we consider a modification of the algorithm studied in the previous sections. This modification was introduced in [5], where the weak convergence of the exact iterates it generates was proved. Here we establish the weak convergence of inexact iterates with summable errors.

Fix a number  $\tau \in (0, L^{-1})$ .

We consider the following algorithm for solving our variational inequality.

**Initialization.** Choose any  $x_0 \in H$ .

**Iterative step.** Assume that  $k \geq 0$  is an integer and that  $x_k \in H$  is the current iterate. Set

$$y_k = P_C(x_k - \tau f(x_k)), \quad (5.1)$$

construct the half-space

$$T_k = \{w \in H : \langle x^k - \tau f(x_k) - y_k, w - y_k \rangle \leq 0\}, \quad (5.2)$$

and set

$$x_{k+1} = P_{T_k}(x_k - \tau f(y_k)). \quad (5.3)$$

In view of (1.1) and (5.1),

$$C \subset T_k, \quad k = 1, 2, \dots$$

The classical algorithm consists in two calculations of the nearest point projection on the set  $C$ . In its modification introduced and studied in [5], the first step is the projection on the set  $C$  while the second one is the projection on the half-space  $T_k$ . The reason for this modification is discussed in [5]. Here, we only mention that the set  $C$  can be complicated while the projection on the half-space is easily calculated.

It was shown in [5] that the sequences  $\{x_k\}$  and  $\{y_k\}$  both converge weakly to the same limit, which belongs to  $SOL(C, f)$ . In the present paper, we show that inexact iterates of the above algorithm retain this property provided the sequence of computational errors is summable.

The following lemma is an important ingredient of the proof in [5].

**Lemma 5.1.** *Let  $\{x_k\}_{k=0}^\infty, \{y_k\}_{k=0}^\infty \subset H$ , for each integer  $k \geq 0$ , assume that (5.1)–(5.3) hold, and let  $u \in SOL(C, f)$ . Then for each integer  $k \geq 0$ , we have*

$$\|x_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|y_k - x_k\|^2.$$

We are now ready to state our second main result.

**Theorem 5.2.** *Let*

$$\tau \in (0, L^{-1}), \quad (5.4)$$

and let  $\{\Delta_k\}_{k=0}^{\infty} \subset (0, \infty)$  with

$$\Delta = \sum_{k=0}^{\infty} \Delta_k. \quad (5.5)$$

Assume that  $\{x_k\}_{k=0}^{\infty} \subset H$ ,  $\{y_k\}_{k=0}^{\infty} \subset H$ , and that, for each integer  $k \geq 0$ ,

$$y_k = P_C(x_k - \tau f(x_k)),$$

(5.2) holds, and

$$\|x_{k+1} - P_{T_k}(x_k - \tau f(y_k))\| \leq \Delta_k. \quad (5.6)$$

Then, the sequences  $\{x_k\}_{k=0}^{\infty}$  and  $\{y_k\}_{k=0}^{\infty}$  both converge weakly to the same limit, which belongs to  $SOL(C, f)$ .

## 6. An auxiliary result

**Lemma 6.1.** *Let  $\tau \in (0, L^{-1})$  and  $\{\Delta_k\}_{k=0}^{\infty} \subset (0, \infty)$  with*

$$\Delta = \sum_{k=0}^{\infty} \Delta_k. \quad (5.7)$$

Assume that  $\{x_k\}_{k=0}^{\infty} \subset H$ ,  $\{y_k\}_{k=0}^{\infty} \subset H$ , that for each integer  $k \geq 0$ , (5.1), (5.2), and (5.6) hold, and that

$$u \in SOL(C, f).$$

Then for each integer  $k \geq 0$ , we have

$$\|x_k - u\| \leq \|x_0 - u\| + \Delta$$

and

$$\|x_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|y_k - x_k\|^2 + \Delta_k (2\|x_0 - u\| + 3\Delta).$$

*Proof.* Let  $k \geq 0$  be an integer. Set

$$\tilde{x}_{k+1} = P_{T_k}(x_k - \tau f(y_k)). \quad (5.8)$$

Lemma 5.1 and (5.8) imply that

$$\|\tilde{x}_{k+1} - u\|^2 \leq \|x_k - u\|^2 - (1 - \tau^2 L^2) \|y_k - x_k\|^2. \quad (5.9)$$

In view of (5.6) and (5.8),

$$\|\tilde{x}_{k+1} - x_{k+1}\| \leq \Delta_k. \quad (5.10)$$

By (5.7) and (5.10), we have

$$\|x_{k+1} - u\| \leq \|x_{k+1} - \tilde{x}_{k+1}\| + \|\tilde{x}_{k+1} - u\| \leq \|x_k - u\| + \Delta_k \quad (5.11)$$

and

$$\|x_k - u\| \leq \|x_0 - u\| + \sum_{i=0}^{\infty} \Delta_i \leq \|x_0 - u\| + \Delta. \quad (5.12)$$

In view of (5.10) and (5.12), we also have

$$\begin{aligned} & |\|\tilde{x}_{k+1} - u\|^2 - \|x_{k+1} - u\|^2| \\ & \leq \|\tilde{x}_{k+1} - u\| - \|x_{k+1} - u\|(\|\tilde{x}_{k+1} - u\| + \|x_{k+1} - u\|) \\ & \leq \|\tilde{x}_{k+1} - x_{k+1}\|(2\|x_{k+1} - u\| + \|\tilde{x}_{k+1} - x_{k+1}\|) \\ & \leq \Delta_k(2\|x_0 - u\| + 2\Delta + \Delta_k) \leq \Delta_k(2\|x_0 - u\| + 3\Delta). \end{aligned}$$

It follows from (5.9) and the above relation that

$$\begin{aligned} \|x_{k+1} - u\|^2 & \leq \|\tilde{x}_{k+1} - u\|^2 + \Delta_k(2\|x_0 - u\| + 3\Delta) \\ & \leq \|x_k - u\|^2 - (1 - \tau^2 L^2)\|y_k - x_k\|^2 + \Delta_k(2\|x_0 - u\| + 3\Delta). \end{aligned}$$

This completes the proof of Lemma 6.1.  $\square$

## 7. Proof of Theorem 5.2

Let

$$u \in \text{SOL}(C, f),$$

and let  $Q$  be a natural number. Lemma 6.1 implies that

$$\begin{aligned} \|x_0 - u\|^2 & \geq \|x_0 - u\|^2 - \|x_Q - u\|^2 \\ & = \sum_{k=0}^{Q-1} (\|x_k - u\|^2 - \|x_{k+1} - u\|^2) \\ & \geq \sum_{k=0}^{Q-1} ((1 - \tau^2 L^2)\|x_k - y_k\|^2 - \Delta_k(2\|x_0 - u\| + 3\Delta)) \end{aligned}$$

and

$$\sum_{k=0}^{Q-1} (1 - \tau^2 L^2)\|x_k - y_k\|^2 \leq \|x_0 - u\|^2 + \Delta_k(2\|x_0 - u\| + 3\Delta). \quad (7.1)$$

In view of (7.1),

$$\sum_{k=0}^{\infty} \|x_k - y_k\|^2 < \infty, \quad \lim_{k \rightarrow \infty} \|y_k - x_k\| = 0. \quad (7.2)$$

Lemma 6.1 implies that the sequence  $\{x_k\}_{k=1}^\infty$  is bounded, and so it has a weak accumulation point. Let  $\bar{x}$  be the weak limit of a subsequence  $\{x_{k_j}\}_{j=1}^\infty$  of  $\{x_k\}$ :

$$\lim_{j \rightarrow \infty} x_{k_j} = \bar{x}. \quad (7.3)$$

It is clear that  $\bar{x} \in C$ . In view of (7.2) and (7.3),

$$\lim_{j \rightarrow \infty} y_{k_j} = \bar{x}$$

in the weak topology. Let  $v \in C$ . By (1.1) and (5.1), for each integer  $k \geq 0$ , we have

$$\langle x_k - \tau f(x_k) - y_k, y_k - v \rangle \geq 0. \quad (7.4)$$

In view of (7.4),

$$\langle \tau^{-1}(y_k - x_k) + f(x_k), v - y_k \rangle \geq 0. \quad (7.5)$$

It follows from (2.1) and (7.5) that

$$\begin{aligned} & \langle f(v), v - y_k \rangle \\ &= \langle f(v) - f(y_k), v - y_k \rangle + \langle f(y_k) - f(x_k), v - y_k \rangle \\ &+ \langle \tau^{-1}(y_k - x_k) + f(x_k), v - y_k \rangle - \tau^{-1} \langle y_k - x_k, v - y_k \rangle \\ &\geq \langle f(y_k) - f(x_k), v - y_k \rangle - \tau^{-1} \langle y_k - x_k, v - y_k \rangle. \end{aligned} \quad (7.6)$$

Since the operator  $f$  is Lipschitz, it follows from (7.2) and (7.6) that

$$\lim_{k \rightarrow \infty} \langle f(y_k) - f(x_k), v - y_k \rangle = 0 \quad (7.7)$$

and

$$\lim_{k \rightarrow \infty} \langle y_k - x_k, v - y_k \rangle = 0. \quad (7.8)$$

By (7.3), (7.6), and (7.8), we have

$$\langle f(v), v - \bar{x} \rangle \geq \liminf_{k \rightarrow \infty} \langle f(v), v - y_k \rangle \geq 0$$

and

$$\langle f(v), v - \bar{x} \rangle \geq 0, \quad v \in C.$$

In view of (2.4),

$$\bar{x} \in \text{SOL}(C, f).$$

Thus we have shown that the limit of any weakly convergent subsequence of  $\{x_k\}_{k=0}^\infty$  belongs to  $\text{SOL}(C, f)$ . Arguing as in the proof of Theorem 2.2, we can show that the sequence  $\{x_k\}_{k=0}^\infty$  itself converges weakly to  $\bar{x}$ . In view of (7.2), the sequence  $\{y_k\}_{k=0}^\infty$  also converges weakly to  $\bar{x}$ . This completes the proof of Theorem 5.2.  $\square$

## Author contributions

Both authors contributed equally.

## Use of Generative-AI tools declaration

The authors declare that they did not utilize any artificial intelligence (AI) tools in the creation of this article.

## Acknowledgments

Simeon Reich was partially supported by the Israel Science Foundation (Grant 820/17), by the Fund for the Promotion of Research at the Technion (Grant 2001893) and by the Technion General Research Fund (Grant 2016723). Both authors are grateful to the four anonymous referees for their pertinent comments and useful suggestions.

## Conflict of interest

Simeon Reich and Alexander Zaslavski are the guest editors for Journal of Industrial and Management Optimization and were not involved in the editorial review or the decision to publish this article. All authors declare that there are no competing interests.

## Declarations

Ethical approval - Not applicable.

Ethical committees, internal review boards and guidelines - Not applicable.

Availability of supporting data - Not applicable.

## References

1. Y. I. Alber, A. N. Iusem, M. V. Solodov, On the projected subgradient method for nonsmooth convex optimization in a Hilbert space, *Math. Programming*, **81** (1998), 23–35. <https://doi.org/10.1007/BF01584842>
2. K. Barty, J. S. Roy, C. Strugarek, Hilbert-valued perturbed subgradient algorithms, *Math. Oper. Res.*, **32** (2007), 551–562. <https://doi.org/10.1287/moor.1070.0253>
3. R. S. Burachik, L. M. Grana Drummond, A. N. Iusem, B. F. Svaiter, Full convergence of the steepest descent method with inexact line searches, *Optimization*, **32** (1995), 137–146. <https://doi.org/10.1080/02331939508844042>
4. R. S. Burachik, J. O. Lopes, G. J. P. Da Silva, An inexact interior point proximal method for the variational inequality, *Comput. Appl. Math.*, **28** (2009), 15–36.
5. Y. Censor, A. Gibali, S. Reich, The subgradient extragradient method for solving variational inequalities in Hilbert space, *J. Optim. Theory Appl.*, **148** (2011), 318–335. <https://doi.org/10.1007/s10957-010-9757-3>
6. V. F. Demyanov, V. Vasil'ev, *Nondifferentiable Optimization*, Nauka, Moscow, 1981.
7. F. Facchinei, J. S. Pang, *Finite-dimensional variational inequalities and complementarity problems*, volume I and volume II, Springer, New York, 2003.

---

8. J. Gwinner, F. Raciti, On monotone variational inequalities with random data, *J. Math. Inequal.*, **3** (2009), 443–453.
9. A. Kaplan, R. Tichatschke, Bregman-like functions and proximal methods for variational problems with nonlinear constraints, *Optimization* **56** (2007), 253–265. <https://doi.org/10.1080/02331930600809259>
10. I. V. Konnov, A descent method with inexact linear search for mixed variational inequalities, *Russian Math. (Iz. VUZ)*, **53** (2009), 29–35.
11. G. M. Korpelevich, The extragradient method for finding saddle points and other problems, *Ekonomika i Matematicheskie Metody*, **12** (1976), 747–756.
12. N. Pakkaranang, Double inertial extragradient algorithms for solving variational inequality problems with convergence analysis, *Math. Methods App. Sci.*, **47** (2024), 11642–11669. <https://doi.org/10.1002/mma.10147>
13. K. Goebel, S. Reich, *Uniform convexity, hyperbolic geometry, and nonexpansive mappings*, Marcel Dekker, New York and Basel, 1984.
14. A. J. Zaslavski, *Approximate solutions of common fixed point problems*, Springer Optimization and Its Applications, Springer, Cham, 2016.
15. D. Kinderlehrer, G. Stampacchia, *An introduction to variational inequalities and their applications*, Classics in Applied Mathematics, Society for Industrial and Applied Mathematics (SIAM), Philadelphia, 2000.



AIMS Press

© 2026 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<https://creativecommons.org/licenses/by/4.0>)